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Part-I (Botany)
(etels =iee 2 few Heae)

Who is regarded as the father of green revolution ? 1

% R o I T 51 a1 =2

The pollination done by snails is called ............... 1
flL S B B 1 0 I NI R
What is GMO ? 1

&, 9. 8. T |2

Name the bacterium which was controlled with penicillin by
~ Alexander Flemming. ' 1

SitseeTed @R eiRFEE AEE @ etk ammm@f&ﬁﬂ
O AN @ | '

. What are the disadvantages of asexual reproduction ? 2

S deR SRR e
Or /g4t

Define parthenogenesis. Give an example of natural parthenocarpic
fruit. ' 1+1=2

Parthenogenesis ~43 A& (FIC | (FAFIER AIFSSF parthenocarpic FEH
TriRge wie |

What is biofortification ? What are the objectives of it ? 1+1=2
GRPRETIRE (IACPRBRI) F1v 9q Seyaf N e
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Or / 9241

What is selection ? Name two methods of selection. 1+1=2

Fiom Fte v 70 siafeT e @t

7. What is transgenic plant ? Give fwo examples. 1+%a+=2

P Ufew e 76 Srizgel wis |

Or / 9341

v

What is recombinant DNA ? How does enzyme endonuclease help
its formation ? 1+1=2

FRREG Bmd. I 2 QelNCHFEr CFEnT O 906 [FeiR AT G 2

8. Give the full form of ELISA. Name two discascs for the dctection of
which ELISA is used. 1+Ya+Ya=2

ELISAT ™ Fellt (=701 | ELISAT FRTSIN e I 4fo @R A Eedl |

Or / 924!

What is EcoR1 ? Mention its function. 1+1=2
EcoR1 & ? «q T T Al |

9. Write short note on any one 2

@ (@ v [ wefrd Bl @Rl |

(a) Biopiracy ((SQ SI#Z79)
(b) Gene Cloning (Bw @ifR)
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10. How insulin is produced through genetic engineering ? 2

TR SfeTEeE AR e Sfem Seoivm a1 22

Or / 24

Explain Gene therapy by citing the example of Adenosine deaminase
(ADA) deficiency. 2

Adenosine deaminase (ADA) STSItRH TuizRe AT fEm fgﬁiﬂi‘ﬂ AGS Fo
IR AT

11. Describe the process of development of male gametophyte in
Angiosperms with suitable diagrams. 3

GG SRR i T R A%fe Toage Brm A= 3569 @i |
Or / g2t

What are the advantages of cross pollination ? 3

T SRAEE ARaR T Fie

12. What do you mean by GEAC ? How it controls the genetic engineering
research ? : 1+2=3

GEAC 3es §t @R 2 oft e iRt R sieet Mot Rt w2
Or /&)

What is the full form of PCR? How amplification of DNA is done
by using PCR? 3

PCR-d 5#l §1 ? PCR-IRZA T FoId DNA #fRaffe s ¢

27T BIOL (BOT-ZOO) (BENG) [4]



13. Decscribe the application of microbes in sewage treatment. 3

HfSem ARERR S SR AR 36 T | ,.
Or / g

State the utility of the following plants and mention their scientific

name.

(a) Indian Ginseng (Ashwagandha) (b) Neem (c) Hill teak (Gamari)
: 1+1+1=3
e Sierelem 729 ¢ @RS T @)

(@) STl (b) WS (c) AR

14. Describe the facts on which Darwinian theory is based upon. 5
@ TR GO Tl TROAEE 9 o T, O I WS |
Or / 924

Describe the factors involved in the process of organic evolution.
S
o R ~iafea A wive IRl 30 @l

15. Write a note on abiotic factors influencing the growth and

development of plants. S

Term 3% ¢ Ram eerife s sited IRPefEm Tan @i Bl (=Tl |
Or / 9241

What is tissue cultuire ? How it has helped us in crop improvement ?
S

Tissue culture JIICF IE ? 77 T T4 Off SNima i@ JYW F@ 2
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Part—II (Zoology)
(TS =Io 2 el _s=)

1. Fill in the blanks: (any two) 1%2=2.
SRR o @ 8 (T @ 5o

(a¢) The primary food plant of eri silkworm is-

G SFHIH YU AW Sfegr = |

(b) Animals that have had their DNA manipulated to express an

animals.

& @ 9@ ~FS Hw o XA em ofde e s et
G IEEE GRS A0 |

extra (foreign) gene are known as

(c) The process of release of ovum from a mature follicle is called

e (siR7%) FEa o (AT T @@ ZeTR afFahe
A | :

(d) Group of individuals in a well defined geographical area, share
or compete for similar resources, potentially interbred,
constitute

ARME SHifeR ARTNR A RS (6 FIAk b TE EeT A
B3 LG TS & efsrifeor srel zem, Frema W eTmwa]
I T |
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2. Answer any two : 1x2=2

T P qio ST TR WS 3 \

(@) What substances are present in birth control pills ?

TERRIGT et (IfT) ) oM e

(b) Which sex chromosome is present only in male (man) ?
(P G foTer ey @4 e A 2

(¢) Write the equation of ‘Verhulst-Pearl logistic growth’ of
population. '

S Verhulst-Pear] 7o gias Feel et |

(d) Why genetic code is said to ‘degenerate’?

(CEBF ALTOE (T TR T 7

3. Answer any fo-ur of the following : 2x4=8

R o8 @ @I bIAT Ted (=T

(a) Write the locations of Untranslated regions (UTR) in mRNA

and state its function.

AORNR] SNG4, ~(S T A FF00 2 SRC<F (Untranslated regions
—UTR) S{ZH B @3 Fieast SE 3@ |
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(b) How seminal plasma is formed ? Write one function of seminal

plasma.

CFH TR FOI Si6e 2 | SEF GREEE G0 PR (0 |

(c) Write how sex is determined in man.

e o e el =, @

(d) Describe briefly the structure of nuclecosome.

Nucleosome-a3 5[5 A a1 T |

(e) What is auto immune disease ? Give one example.

TN SEFTel @5 12 G Tz TS |

(f/ Name the disease of silkworm caused by protozoan parasite.

Mention the preventive measures against this disease.

TG SN R RIS @ STRea @b T @ | 92 @R
Ao R TrEd IE | '

4. State the differences between : (any two) . 2x2=4

T (et 7% RAwa w8

(@) DNA and RNA

.9, G2 NG9,
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(b) Acquired and Innate immunity

SIS R TS Sl

(c) Production and decomposition

Teolin Q32 Rrates

(d) Klinefelter syndrome and Turner syndrome.
BT P e S e

Draw a labelled diagram of human foetus in the uterus.

S (SOE T gl @l e B siiga |

Or / 9z4¢

Draw a label diagram of molecular structure of antibody.

G iR stibem ol Bie B i

6. Write briefly the importance of bee keeping.

G, ATt w3y Hermgo! T |
Or/@%f

Why should we conserve biodiversity ?

(T @I (& (Afbar el o] elrare o
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7. A child has blood group O. If the father has blood group A and
mother blood group is B, write the genotypes of parents and possible

genotypes of other offsprings. a

G Fiem aeve O | I oo 0ea v A 8 | TevE B 38, el ¢ Tiel
St @R = SRR TSR SEinize e

Or / §4q1

Explain co-dominance with example. ]

RS SHie SR R TR

8. What is the infective stage of malarial parasite ? Describe the life
cycle of malarial parasite in brief. 1+4=5

SHICEARAT ARG TP i F1 2 Al AR SRbe Ao 399
IR |

Or / 924

What are the probable causes of cancer? Write briefly on its
detection and diagnosis. 2+1%+1%=5

FHGASIE AV IiAafe e FRo@e Ffa € *mreadad F9rE Fmeel
ceTedl |

9. What are the different stages of gene regulation ? Explain the Lac-
Operon model of transcriptional regularation. 2+3=5
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‘o e Mg [ifen wraf St Lac-Operon =< 2 %I‘Pﬂﬁ'ﬂ T
[T I |- |

L]
.

Or / 4!

Explain the southern blot hybridization technique of DNA finger
printing. S

fo. . q. Rl ARG~ SR 26 AR T R e |

27T BIOL (BOT-ZOO) (BENG) [11]



